



名前: \_\_\_\_\_

日にち: \_\_\_\_\_ スコア: \_\_\_\_\_

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{5} =$$

$$\left(\frac{2}{5}\right) + \frac{1}{4} =$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{2}{5}\right) - \frac{3}{5} =$$

$$\left(-\frac{1}{6}\right)^0 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{1}{6}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^0 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{3}\right)^0 + \frac{2}{5} =$$

$$\left(-\frac{1}{3}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) =$$



名前: \_\_\_\_\_

日にち: \_\_\_\_\_ スコア: \_\_\_\_\_

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{2} = \frac{43}{50}$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{2}\right) = \frac{25}{54}$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{3}\right) = \frac{11}{48}$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{3} = \frac{4}{9}$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{9}{100}\right)$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{5} = \left(-\frac{3}{40}\right)$$

$$\left(\frac{2}{5}\right) + \frac{1}{4} = \frac{13}{20}$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{3}{5}\right) = \frac{93}{80} = 1\frac{13}{80}$$

$$\left(\frac{2}{5}\right) - \frac{3}{5} = \left(-\frac{1}{5}\right)$$

$$\left(-\frac{1}{6}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{4}\right) = 0$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{11}{16}\right)$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{2} = \frac{17}{16} = 1\frac{1}{16}$$

$$\left(-\frac{3}{4}\right) - \left(-\frac{1}{2}\right) = \left(-\frac{1}{4}\right)$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{4} = \frac{61}{100}$$

$$\left(\frac{1}{6}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{3}\right)^0 + \left(-\frac{1}{4}\right) = \frac{3}{4}$$

$$\left(\frac{1}{3}\right)^0 + \frac{2}{5} = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(-\frac{1}{3}\right)^3 + \frac{1}{2} = \frac{25}{54}$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{11}{40}\right)$$